INSTALLATION MANUAL
RED STEEL REAR BUMPER
PRODUCT NUMBER: CS19-RT4050

APPLICATION: 2019+ CHEVROLET/GMC 1500 %

MADEC IN THGC USA






SIN31INOJ 10 318Vv1



A MESSAGE FROM THE OWNER

Fab Fours’ was born out of a passion for customizing vehicles and a love of the outdoors. Our
engineering team uses the latest 3D design software to turn new product ideas into reality. In our
factory, designs come to life with the combination of cutting edge technology for metal cutting
and forming and an American workforce that puts its’ heart and pride into every product.

From design and manufacturing, to quality and delivery, Fab Fours’ mission is to be the market

leader for steel truck and jeep accessories. We make sure a quality product is delivered on time,
more than expected, better than expected to our customers.

Enjoy your new Fab Fours product. Welcome to the family!

Greg Higgs

FOUNDER, FAB FOURS



GETTING STARTED

Before you begin the installation process of your new Fab Fours product, we suggest
laying out all materials and parts on a pad or protective surface.

Failure to fully account for all components before beginning installation may leave vehicle
immobile until part is acquired. Refer to the next pages as an inventory check.



PROVIDED MATERIALS

TOOLS REQUIRED
I M HW Resistor  3/8” Socket wrench
KIT e 3/4” Socket wrench

* 15mm Socket wrench

¢ 18mm Socket wrench

RT4050-IM 50195-HW 61675 * 22mm Socket wrench

*3/4” Box end wrench

*15mm Box end wrench
e 18mm Box end wrench
® 22mm Box end wrench
eFlat head screwdriver
¢5/32” Allen wrench
22150 * rill

e1/4” Drill bit

¢ Phillips head screwdriver

61672

HARDWARE KIT | 50195-HW

ASSISTANCE

We recommend two people
perform the installation as items
are heavy and may need to be held
in place while installing.

FAB FOURS COMPONENT
IDENTIFICATION DESCRIPTION

50195-HW 1/4” License Plate Nut Nylon 4

50195-HW 1 3/8”"-x Grommet, Plastic 6

50195-HW Plastic Plug 6

50195-HW 7/16"-14 x 1.25” HHCS Zinc GR8 4 URGANIZATION

50195-HW 7/16” SAE Flat Washer 8

50195-HW 7/16” SAE Lock Washer 4 Disassemble the vehicle where you
- can catalog and store everything.

50195-HW 7/16"-14 Hex Nut 4 We suggest labeling and bagging all

50195-HW 5/16” Flat Fender Washer 4 the OEM bolts when removing from

50195-HW #8-32 x 3/4" BHCS 4 the vehicle. Failure to I.<eep.t'rack of

parts could lead to an inability to

properly reinstall components.




NOTE: Save all OEM parts until installation
is complete!

1. Remove license plate and OEM license
plate lights. Disconnect trailer receptacle. If
equipped unplug back-up sensor harness.

2. Using a 13mm wrench, remove the two (2)
bolts attaching the stock bumper to the factory
trailer hitch located behind the license plate.
(Figure 1)

4. Remove the 2(one per side) 13mm bolts
attaching the side wings of the bumper to the
bumper support rods. (Figure2)

Figure 1

Figure 2

DISASSEMBLY




5. Using a 19mm socket, remove the four (4)
OEM nuts (two per side) attaching the stock
bumper to the chassis. (Figure 3)

6. Remove OEM bumper from the truck

7. Using a 21mm socket, remove the bumper
support rods. (Figure 4)

8. Remove the OEM electrical harness from
bumper by removing the push pins.

NOTE: Document the location of each sensor
housing for reference when reinstalling into
your bumper.

Figure 3

Figu 4




9. Remove the sensor from the sensor housing
by expanding both sides of the sensor housing
and lifting up. (Figure 5-6)

NOTE: Sensors are extremely delicate and
must be handled with care! Do not push on
face of sensors to remove! Figure 5

10. Remove the sensor housing from the
bumper by depressing the four (4) tabs while
pulling outward from the outside of the
bumper. (Figure 7-8)

11. Remove spare tire access cover, license

plate plastic inserts, tag light housings with

clips and trailer plug from the OEM bumper.
Set aside for reinstallation.

Figure 6

Figure 7 Figure 8



INSTALLATION

12. Using a cut off wheel or similar, remove
the bumper supports from the top of the
receiver hitch. (Figure 9)

13. FOR SENSOR BUMPER INSTALLATION
ONLY: Install the sensor housings into the
appropriate slots by inserting each housing
from the outside of the bumper in.

NOTE: The driver side outer sensor housing
will install into the driver side inner sensor
location. The passenger side outer sensor
housing will install into passenger side inner

sensor location. DO NOT EPOXY AT THIS TIME.

14. Replace the sensors in the appropriate
housings and zip-tie any loose harness to the
bumper.

15. Install the OEM tag light housing into the
bumper using the OEM hardware.

16. Insert the trailer plug receptacle to the
bumper and mark the bolt locations for
drilling. (Figure 10)

Figure 9

Figure 10




17. Remove the trailer plug receptacle and
using a 7/32” drill bit, drill out the trailer plug
receptacle.

17. Install the trailer plug receptacle with the
provided #8 hardware.

18. Reinstall license plate with OEM plastic
inserts

19. Reinstall the OEM spare tire access

20. Lift your bumper into place and install one
(1) 7/16”x1.5 button head bolt, flat washer,
lock washer and nut provided in the hardware
kit, on each side.

21. Level the bumper and fully tighten all
hardware.

NOTE: Lower the tailgate to
ensure there is no interference
(including GMC step tailgate)
with the bumper. If needed,
loosen bumper and readjust.

22. FOR SENSOR BUMPER INSTALLATION
ONLY: Test the sensors to ensure that the truck
does not read the ground or any give off any
errors.

23. Once the testing is complete, epoxy the
sensors into place.

NOTE: Do not epoxy the sensors, only the
housings.

11



CONTACT INFORMATION

FAB FOURS INC.
2213 INDUSTRIAL PARK ROAD
LANCASTER, SC 29720

PHONE: (866) 385-1905

FAX: 866-574-1423

EMAIL: SUPPORT@FABFOURS.COM
WWW.FABFOURS.COM




“IF YOU'RE LOOKING FOR MORE OF THE SAME,
THEN YOU'VE COME T0 THE WRONG PLACE.”

- GREG HIGGS

480\




